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This paper consists of two sections, A and B.
THREE questions from Section B. Section A will

liems §
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Answer all the questions in Section A and
be collected after the first 30 minutes.

SECTION A
Answer ALL questions in this section.

to 20, are stems followed by four options lettered A to D. Read each item carefully

and circle the letter of the correct or best option.

1

Which one of the following regions represents (PUQ)y NR?
- (V)
. (v

- {vii)

2. Find

AL
13.
C.

[

b The Venn diagram below shows three intersecting subsets P, Q, and R of a universal

set L.

{Vili)

the 20" term of the sequence deflined by a, = n?
39

199

380

399

- n.

What is the quotient when the polynomial f(x)=x" +4x> +11x-30 is divided by (x~5)?

X =3x-6
¥ =256
X' +2x-6
¥ +3x-6
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Find the common ratio for the ex onential sequence with a; = 10 and a, = 40,
1 2 4

A2
B.3
C. 6

D,

O

et

2

.. - ; . . VAN
‘ind the value of v such that the determinant of the matrix (}/ 2) is 3.

]
B e D
A

4
, ‘ e - a b
A binary operation, A, is defined on the set R, of real numbers by a Ab = e where
b
a b € Randa, b # 0. Evaluate 2 A N2
1
i
A —=
~2
D
B, —
V2
o V2
-4
. \./"‘2
5 R
2
Which of the following logarithmic statements is frue”?
logs 5
A —— = log(z)
tog3 g<3’
B. (log,y)” = 3logzy
Colog,(x +y) = logax +log,y
D. log,(xy) = logax +logay
Find the range of values that satisfy the inequality, 3 < 4x +7 < 15,
A —2<x <4
B —1<x<4
C. —-1<x<2
D 2<x<4
Find the remainder when P(y) = 3x + S5t a4 Tx+ 3isdivided by (x+2).
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2 2
L0, Simplify -2 2
-y T 3
2
A =
I+

Ll Solve for x in the equation 3¥72 = 7 correct to six decimal places.
A 0771244

B. 1.771243

C. 2.771243
3.77

}
D. 3.771244

3

t2. Solve for x in the logarithmic equation, log,(25 —x) = 4.
A8
B. 9
C. 17
D. 19

[3. A binary operation is defined by xxy =x? ~ y? 4 xy, where x and y are real numbers.

Evaluate V5 = 2.
A V5 — 4

B. 5-2v5

C. V5 +1

P
D1+ 2v5

- 4 303

. Find the seventh term of the exponential sequence, 3, — 5
3
AL =
32

D.

15, What is the expansion of (1 — 3x)3?
AT = 9x — 27x2 - gx3
Bol—9x —27x2 - 07,8
Col = 9x + 27x2 = 27,3
DT =90+ 27x2 — 9y3
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6. Which of the following expressions is the reduced form of “mee e
3x+6
b,
A S(x-3)
3

1,
B —{v-3)
2b )

c.%Q+3

y
D. = (x+3)

17 A worker's initial annual salary is GHg850.00 and it is 10 be increased by GH¢110.00 a year.
How much would the worker expect 1o earn in the eighth year?
A GH¢1,420.00
3. GHe1,520.00
. GH¢1,620.00
D. GHe1,720.00

20. Given the matrices A = (wz f) and B = ( f{:i), find AB.
A {38 31 ‘ )
B W \ !

o [ -20 -1t
{
B. (7%5,00)

-7 3
20 11y

S L 32 15
—20 ~11Y

b < 32 ~157
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